25.5700.40 A42R -316-360°-O-Tank clean.,s/prop.40 I/m

MocneaHee 06HOBNEHME



o3  ApTukyn OnvcaHune Komm KIK2K3K4 =8 o3 ApTUKYN OnwcaHune Komm KIK2K3K4 =
1 80.0807.60 Ring nut M12x1 mm Ai316 sst 1 1 23 80.0833.21 Plan. gear holder+3 pins+gear, Sst. 2 1
2 10.3034.19 O-Ring, 1,5x45 mm Vi 70-Nsf 3 5 24 80.0809.60 Ring gear z.60, 3-stage cleaner, sst. 1 1
3 10.2031.19 Stem seal, 16x21x2,2 mm +O-ring 1 5 25 80.0213.84 Shim pin, plast. 1 3
4 80.0816.60 Seal holding pin, Sst. 1 5 26 80.0832.21 Plan. gear holder+3 pins, Sst.+1 pin 1 1
5 80.0871.60 Fixed pinion, z.45 Sst. Ai316 1 1 27 80.0808.60 Parallel pin, 3x24,5mm Ai316 1 3
6 80.0852.60 Shim ring, Ai 316 Sst. 1 1 28 16.1909.00 Screw, DIN912 M6x90 mm Sst. 8 10
7 11.4412.98 Ball-bearing, 12x28x8 mm - 2RS1 Sst. 2 3 29 80.0813.60 Inlet coupl., 1/2Bsp F Sst. 1 3
8 10.1011.60 Snapring, | D 28 Sst. 1 10| |30 10.3077.19 O-Ring, 1,78x28,3 mm Vi 70-Nsf 1 | 5
9 10.3019.19 O-Ring, 1,5x9,0 mm Vi 70-Nsf 1 5 31 80.0820.63 Net, 21,5x26,5 mm Ai316 Sst. 1 3
10 80.0872.60 Pin, Ai 316 Sst. 1 5 32 80.0803.60 Inlet housing, Sst. 1 1
11 80.0873.60 Spherical cap -A42R Ai 316. 1 1 33 80.0836.60 Ring injector, 3x2,8 mm Sst. Ai316 1 1
12 16.2225.60 Set screw, DIN913 M8x16 mm Sst.Ai316 1 10| | 33 80.0837.60 Ring injector, 4x3,4 mm Sst. Ai316 1 1
13 16.2221.60 Set screw, DIN914 M8x8 mm Ai316 Sst. 1 10| | 33 80.0801.60 Ring injector, 6x3,4 mm Sst. (1) 1 1
14 80.0860.60 Shim ring, 15,4x23x0,3mm Ai316 Sst. 1 1 34 80.0512.84 Turbine, plast. 1 3
15 80.0874.60 Sst Ai 316 shaft 1 1 35 80.0834.21 Geared shaft, Sst. 1 1
16 10.2031.16 Stem seal, 15 mm +O-ring 2 5 36 80.0548.84 Bushing ring 2 3
17 10.3260.19 O-Ring, 3,53x47.63 mm Vi 70 1 10| | 37 80.0811.60 Sst. inlet flange 1 1
18 80.0875.60 Spher.nzl hold,-gear z.47,Sst Ai316 1 2 38 80.0814.53 Shim ring, Sst. 1 5
19 80.0859.60 Shim ring, Sst. Ai316 1 1 39 10.0999.60 Snap ring, E 12 Sst. 1 10
20 80.0858.60 Pin, M10 - Ai 316 Sst. 1 1 40 15.3711.18 Grub screw, 303 Sst. 1/8M Npt 2 4
21 80.0821.60 Planetary gear, z.24 Ai316 9 3 41 15.3710.18 Plug, 1/8" Bsp plast. 2 4
22 80.0822.84 Bushing, . 8x12mm 9 3

KUT Aptukyn OnvcaHune I~

‘ K1 25.5711.24 Seals Spares Kit - MI42-316-360° 6x1pcs. 1
(1) 25.5700.40

MocneaHee 06HOBNEHME




